Summary Plots 0: vqwk_04_Ochs test
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Summary Plots 1: ADC vs event number
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Summary Plots 2: ADCs PPM noise floor at max 7V signal
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Surplgmry Plots 3: diff crosstalks wrt vqwk 04 Och O
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Surplgmry Plots 4: diff crosstalks wrt vqwk 04 Och 1
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Sumgmry Plots 5: dlff crosstalks wrt vgqwk 04 Och 2
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Sumgmry Plots 6: diff crosstalks wrt vgqwk 04 Och 3
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Sumra%ary Plots 7: dlff crosstalks wrt vqwk 04 Och 4
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Sumgmry Plots 8: diff crosstalks wrt vgqwk 04 Och 5
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Surplgmry Plots 9: diff crosstalks wrt vqwk 04 Och 6
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Sumgmry PIots 10: dlff crosstalks wrt vgwk 04 Och 7
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